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Nell’albero	
  è	
  riportata	
  la	
  trasmissione	
  di	
  una	
  malattia	
  autosomica	
  dominante.	
  Ciascun	
  
individuo	
  (numerati	
  nell’albero	
  da	
  1	
  a	
  12)	
  è	
  stato	
  analizzato	
  per	
  un	
  microsatellite	
  associato	
  al	
  
gene	
  che	
  determina	
  la	
  malattia.	
  Si	
  conoscono	
  6	
  alleli	
  polimorfici	
  del	
  microsatellite	
  e	
  sono	
  
mostrati	
  i	
  risultati	
  di	
  tutti	
  gli	
  individui	
  analizzati.	
  
	
  
Sulla	
  base	
  dei	
  genotipi	
  della	
  generazione	
  III,	
  determinare	
  la	
  frequenza	
  di	
  ricombinazione	
  
tra	
  il	
  gene	
  della	
  malattia	
  ed	
  il	
  locus	
  microsatellite.	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  
	
  
	
  

	
  
	
  


